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FOREWORD 

The Candidates’ Items Response Analysis (CIRA) of the Advanced Certificate of 

Secondary Education Examination (ACSEE) in 112 History subject is an 

evaluation report of the education delivery of the candidates in their two years of 

Advanced Secondary School Education. 

The report provides feedback to students, teachers and all education stakeholders 

on the performance of the candidates. The analysis done in this report indicates 

that, the general performance of the candidates in 2021 was good since majority of 

them (99.68%) passed while very few (0.32%) failed. The analysis shows that all 

13 topics which were examined had a good performance. 

In this report, the analysis of each question has been done whereby the factors 

which influenced the candidates to answer the questions correctly or incorrectly 

have been shown. The report shows that candidates with high performance 

provided appropriate responses since they were able to identify the task for each 

question and had good knowledge of the subject matter and good mastery of the 

English language. However, candidates with weak performance encountered some 

challenges in answering the questions. Some of these challenges include; failure to 

interpret the demands of the questions, poor mastery of English language and lack 

of sufficient knowledge on some history concepts.  

 

The National Examinations Council of Tanzania believes that this feedback will 

enable various education stakeholders to take proper teaching and learning 

interventions so as to enable the students to acquire the required skills and 

knowledge. 

 

Finally, the Council would like to express its appreciation to all who participated in 

the preparation of this report.  

 

 

 
Dr. Charles E. Msonde 

EXECUTIVE SECRETARY 
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1.0 INTRODUCTION 

The History subject examination was set in accordance with the 2009 syllabus 

and the 2019 History subject Examinations Format. The examination 

consisted of two papers namely, 112/1 History 1 and 112/2 History 2. Each 

paper had a total of seven (7) questions. Candidates were required to attempt 

question 1 and other four (4) questions in each paper. Each question carried 

twenty (20) marks.  
 

This report analyses the candidates’ responses to the Advanced Certificate of 

Secondary Education Examination (ACSEE) questions in History subject. 

Therefore, the report provides feedback to the educational stakeholders on the 

performance of the candidates. 
 

A total of 36,589 candidates sat for 112 History in 2021 out of whom 36,298 

(99.68%) passed and only 115 candidates (0.32%) failed. The results of 176 

candidates were withheld due to various reasons. The rate of performance in 

this year increased by 0.03 per cent compared to the 2020 results whereby out 

of the 37,816 candidates who sat for that examination, 37,840 candidates 

(99.65%) passed, 133 candidates (0.35%) failed and 203 candidates had their 

results withheld. 
 

The report highlights what the candidates were required to do in each question. 

It depicts the strengths and weaknesses shown by the candidates in answering 

the questions. Moreover, it provides a statistical analysis of the candidates’ 

performance and extracts which illustrate their answers. Finally, the report 

gives the analysis of the candidates’ performance per topic, the conclusion, 

recommendations and an appendix which shows performance of the candidates 

in each topic. 

In this report, green, yellow and red colours are used to show good, average 

and weak performance respectively. The performance is considered to be good 

if a candidate scored from 12 to 20 marks (60% to 100%), average if the score 

is from 7 to 11.5 marks (35% to 59%) and weak if the score ranges from 0 to 

6.5 marks (0% to 34%).  

The Council expects that this report will enable teachers and students to 

improve the teaching and learning of History subject. 
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2.0 ANALYSIS OF THE CANDIDATES’ PERFORMANCE IN EACH 

QUESTION 

2.1 112/1 HISTORY 1 

2.1.1 Question 1: Political and Economic Development 

 

The question was set from the topic “Political and Economic Development 

in Tanzania since Independence”. It required the candidates to suggest 

ways of eliminating hurdles facing agricultural development in Tanzania.  

It was a compulsory question thus, all candidates (36,589) attempted it. The 

performance in this question was good since 98.8 per cent of the candidates 

passed. Among them, 86.2 per cent scored from 12 to 19.5 while only 12.7 

per cent scored from 7 to 11.5 marks. However, very few candidates (1.1%) 

failed in this question by scoring from 0 to 6.5 marks. Figure 1 summarises 

the performance of the candidates in this question. 

 

 

Figure 1: Performance of Candidates in Question 1 

Candidates who scored marks ranging from 12 to 19.5 were able to propose 

various ways of eliminating the obstacles facing agricultural development 

in Tanzania. Their points included; development of infrastructure, 

improvement of irrigation schemes, development of internal and external 

markets, provision of loans and subsidies to peasants, the use of proper 

agricultural extension services, mechanization and modernization of 
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agriculture and the use of improved seeds. Candidates in this group were 

able to clarify these points and provide vivid examples wherever possible. 

However, the strengths of their responses varied causing their marks to 

range from 12 to 19.5. Extract 1.1 is an example of the response from a 

candidate who performed relatively well in this question. 
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Extract 1.1: A sample of a good response to question 1 

In extract 1.1, a candidate was able to recommend the ways of eradicating 

the obstacles facing agricultural development in Tanzania. 

Candidates who scored from 7 - 11.5 marks had varied weaknesses.  Some 

were not able to exhaust the required number of points. Others provided 

partial explanations which embodied irrelevant examples. In most cases, 

explanations of some candidates in this group were too general. For 

example, a candidate citing “building of physical infrastructures such as 

railways and roads” had to consider the existing infrastructures.  On the 

contrary, some of the opinions assumed as if the country is currently 

inaccessible which is historically wrong. Such candidates could not score 

higher marks.  

Candidates who scored marks ranging from 0 - 6.5 had more weaknesses in 

their responses. Some of them mixed up the correct and incorrect points. 

Others gave either partial or wrong explanations on the relevant points. 

Moreover, some candidates diverged from the demands of the question. 

Such candidates either scored very few marks from the relevant 

introduction or zero.  Some of the diverged responses focused on the 
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problems facing agricultural sector in Tanzania and the importance of 

agriculture. Most diverged responses in this question centered on the 

concept of improvement of colonial agriculture. Therefore, various 

strategies which were used by the colonial state to improve agriculture in 

Tanganyika after 1945 were pointed out. The responses like establishment 

of colonial agricultural schemes such as Nachingwea and Kongwa 

groundnuts schemes, Urambo tobacco scheme in Tabora and destocking 

schemes in Sukumaland and the concepts of master farmers and grow more 

cash crops campaign prevailed. Such candidates were not careful in 

grasping the demand of the question thus, they were attracted by a popular 

sub topic “Changes in Colonial Agriculture”. Extract 1.2 is an example of 

an extract from a candidate who provided irrelevant responses to the 

question.  
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Extract 1.2: A sample of the poor response to question 1 

In Extract 1.2, a candidate examined the hurdles facing agriculture in 

Tanzania but did not suggest how such obstacles can be eradicated as the 

question demanded. 
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2.1.2 Question 2: Pre-colonial African Societies 

The question was set from the topic: “Pre-colonial African Societies”. It 

required the candidates to account for the development of the second 

exploitative mode of production in pre- colonial Africa. 

It was attempted by 84 per cent of the candidates. The performance in this 

question was good since 56.2 per cent of the candidates scored from 12 to 

18.5 marks and 32.1 per cent scored average marks (from 7 to 11.5) while 

very few candidates (11.7%) failed by scoring from 0 to 6.5 marks. Figure 

2 shows the performance of the candidates in question 2. 

 

Figure 2: Performance of Candidates in Question 2 

Candidates who scored marks ranging from 12 to 18.5 had sufficient 

knowledge about the feudal system in the pre - colonial African societies. 

They recognized that the “second exploitative mode of production” in pre- 

colonial Africa implies feudalism thus pointed out the factors that triggered 

off its development such as favorable climate and fertile soil, advancement 

of science and technology, development of local and long distance trade, 

strong army, the role of religion, development of surplus, population 

growth and good leadership. These candidates were also able to identify 

some African societies which attained feudal mode of production in 

different parts of Africa, for example, The Haya in Bukoba, Yoruba in 

Nigeria, Baganda in Uganda, Mandinka in Mali and Zulu in South Africa. 

However, there were variations in their scores which were caused by varied 
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qualities and accurateness of their responses. Extract 2.1 shows a sample of 

a relatively good response in this question. 
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Extract 2.1: A sample of a good response to question 2 

In Extract 2.1, despite some grammatical errors, a candidate gave the 

reasons for the development of feudalism (Second exploitative mode of 

production) in pre – colonial Africa. 
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Some candidates who scored from 7 to 11.5 marks presented appropriate 

responses but lacked adequate explanations and examples. Also, few 

candidates in this category presented less than six points due to insufficient 

knowledge on the concept in question. Others mixed points of the first and 

second exploitative modes of production (Slavery and Feudalism). 

Candidates who scored from 0 to 6.5 marks had varied weaknesses in their 

responses. Some just listed the points without supportive explanations and 

examples while others gave some relevant points with irrelevant 

explanations and examples. The statistics show that, 593 candidates (1.9%) 

scored zero in this question. Majority of them treated the “second 

exploitative mode of production” as “Slave Mode of Production” instead of 

Feudalism. This was attributed to the fact that, the second mode of 

production was Slavery. However, Slavery was the first exploitative mode. 

Consequently, such candidates had their responses centered on Slave Mode 

of Production and slave trade. Extract 2.2 is an example of a weak response 

to this question. 
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Extract 2.2: A sample of a poor response to question 2 

In extract 2.2, a candidate deviated from the demands of the question and 

presented the factors which either enabled or forced the Europeans to 

capture slaves in Africa.  

2.1.3 Question 3: Africa and Europe in the 15th Century  

This question was derived from the topic “Africa and Europe in the 15th 

Century”. It required the candidates to substantiate that the levels of 

development between Africa and Western Europe in the 15th century was 

almost the same.  
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Majority of the candidates (96.1%) attempted this question and its general 

performance was good since 82.1 scored from 12 to 19 marks and 15.1 per 

cent scored from 7 to 11.5 marks while very few candidates (2.8%) failed 

by scoring from 0 to 6.5 marks. Figure 3 shows the performance of the 

candidates in this question. 

 

Figure 3: Performance of Candidates in Question 3 

Candidates who scored from 12 to 19 marks were able to explain the 

similarities of the level of development which were attained by Africa and 

Western Europe by the  15th century. Their good scores resulted from 

providing proper introductions, clear and detailed explanations and 

plausible examples. The similarities centered on: modes of production, 

development of agriculture, expansion of education, political system, trade, 

architectural advancement, development of political systems and 

manufacturing industries. However, variation of marks in this category was 

due to disparities in the accuracy of their responses, elaborations and 

examples. Extract 3.1 represents a sample of a response from a candidate 

who responded relatively well. 
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Extract 3.1: A sample of a good response to question 3 

 

In Extract 3.1, a candidate was able to reveal the similarities of the level of 

development between Africa and western Europe by the 15th century. 
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Some candidates’ responses based either on Africa or Western Europe thus 

their explanations lacked comparisons. Others regarded Americas as part of 

Western Europe. Such weaknesses limited their scores to average. (from 7 

to 11.5 marks) 

 

The responses of the candidates who scored from 0 to 6.5 marks revealed 

several weaknesses. The notable ones include; providing partial 

explanations and providing a mixture of correct and incorrect responses. 

Some of these candidates diverged from the demands of the question by 

contrasting the development between Africa and Western Europe and 

explaining the technological advancement attained in Africa by the 15th 

century. Such candidates were able to score some few marks from few 

relevant points they provided. Moreover, some candidates scored zero due 

to a number of reasons. For example, some provided points which refuted 

the assertion that, the levels of development between Africa and Western 

Europe were the same by the 15th century contrary to the demands of the 

question. Some of these candidates dealt with the reasons for the widening 

gap between Africa and Western Europe by explaining on points like 

mercantilism, slave trade, colonialism and neo - colonialism. Other 

candidates exposed various revolutions which accelerated European 

development. Extract 3.2 shows a sample of a poor response on this 

question. 
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Extract 3.2: A sample of a poor response to question 3 

 

In Extract 3.2, a candidate gave the reasons which explained the 

developmental gap between Africa and Europe contrary to the demands of 

the question. 
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2.1.4 Question 4: People of African Origin in the New World 

The question was set from the topic: “People of African Origin in the New 

World”. The candidates were supposed to show the extent to which the 

Back to Africa Movement was beneficial to Afro - Americans. It was 

attempted by 73.5 per cent of the candidates. The performance in this 

question was good since the majority of the candidates (64.9%) scored 

from 12 to 18 marks, 28.8 per cent of the candidates scored from 7 to 11.5 

and very few candidates (6.3%) failed by scoring from 0 to 6.5 marks. 

Figure 4 shows the performance of the candidates in this question. 

 

 

Figure 4: Performance of Candidates in Question 4 

Candidates who scored marks ranging from 12 to 18 were able to show the 

extent to which Afro - Americans benefited from the Back to Africa 

Movement. Such candidates were able to explain the concept of Back to 

Africa Movement and its significance to Afro - Americans with concrete 

examples. They provided points like: the formation of American 

colonization society in 1816, establishment of black star shipping line 

agency, formation of Universal Negro Improvement Association (UNIA), 

establish of Negro – World Newspaper, creation of good economic 

conditions for Afro – Americans, consolidation of unity and solidarity 

among the people of African origin worldwide. The scores in this category 

differed due to different strengths of the candidates’ elaborations and their 
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varied abilities in giving appropriate examples. Extract 4.1 is a sample of a 

relatively good response from one of the candidates in this question. 
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Extract 4.1: A sample of a relatively good response to question 4 

In Extract 4.1, despite some grammatical errors in the response, the extract 

suffices the requirements of the question. 
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Candidates who scored marks ranging from 7 to 11.5 understood the 

requirement of the question but their responses were too weak to deserve 

higher marks. In most cases, some concepts and examples given were 

wrong. On the other hand, some did not exhaust the required number of 

points.  

Candidates who scored from 0 to 6.5 marks had several weaknesses in their 

arguments. For example, some provided inadequate explanations and 

wrong examples. Others explained the achievements of Civil Rights 

Movements of which some correlate with the concept in question. The 

common limitations observed in the responses were, inability of the 

candidates to express their responses in English language and provision of 

unrelated explanations in some correct points. 

Moreover, some failed to interpret the demand of the question thus scored 

zero. For instance, some responded on the challenge which Africans 

encountered in Black Solidarity and Civil Rights Movement such as: 

different ideologies, lack of fund, assassination and imprisonment of 

leaders, illiteracy among the Afro - Americans and the role of anti - black 

movement. Furthermore, others responded on the weaknesses of Pan – 

Africanism and others pointed out some impediments Afro – Americans 

encountered in either their back to Africa movement or in other struggles. 

Extract 4.2 is an example of one of the weak responses to this question. 
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Extract 4.2: A sample of a weak response to question 4 

In Extract 4.2, a candidate focused on the obstacles which hindered the 

Blacks struggles in America as opposed to the requirements of the question. 

2.1.5 Question 5: Colonial Economy and Social Services 

This question was set from the topic “Colonial Economy and Social 

Services after the 2nd World War”. It demanded the candidates to show how 

colonial education perpetuated colonialism in Africa. It was attempted by 

53.1 per cent of the candidates. Majority of them (48.2 %) scored from 7 to 

11.5 marks and 37.6 per cent scored from 12 to 19 marks while very few 

candidates (14.2 %) scored from 0 to 6.5 marks. The general performance 

in this question was good. Figure 5 summarizes the performance of the 

candidates in this question. 
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Figure 5: Performance of Candidates in Question 5 

The candidates with good performance interpreted the question correctly. 

They were able to link colonial education with its hidden objective of 

consolidating colonialism in Africa thus provided points like; creation of 

African staff that assisted the colonialists, divided Africans into classes, 

taught African agricultural skills, imparted western values to Africans, 

made Africans passive, and facilitated exploitation of resources. These 

candidates explained how these consequences of the said education 

cemented colonialism in Africa. However, the performance ranged from 12 

to 19 due to different quality of arguments and examples. Extract 5.1 

provides a sample of a candidate’s correct response in question 5.  
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Extract 5.1: An example of a good response to question 5 

Extract 5.1 shows the response of a candidate who appreciated the roles of 

colonial education in strengthening colonialism in Africa. 
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Candidates who scored from 7 to 11.5 marks had inadequate knowledge of 

the concept in question. Some failed to provide satisfactory explanations 

and relevant examples and others made repetitions of some points. A 

notable mistake observed in most of the responses was the failure of the 

candidates to link the points with perpetuation of colonialism. For example, 

a candidate could explain that colonial education provided education to few 

Africans but failed to show how such Africans cemented colonialism. 

The candidates who scored marks ranging from 0 to 6.5 had various 

weaknesses in their responses. Some include; provision of partial 

introduction and explanations and responding to what was perceived as 

features of colonial education in which some related with correct responses. 

On the other hand, other responses did not match with the requirements of 

the question. This was attributed by the factor that, some of these 

candidates did not grasp the meaning of the word “perpetuate” leading 

them to fake responses. Some unexpected responses provided include; 

explaining the strengths of pre-colonial education like preservation of 

culture and inspiring in good African moral values and explaining the 

general advantages of education. Extract 5.2 is an example of a wrong 

response to this question. 
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Extract 5.2: A sample of a poor response to question 5 

In Extract 5.2, a candidate explained the benefits of colonial education to 

the Africans contrary to the demands of the question. 

2.1.6 Question 6: Colonial Economy and Social Services 

This question was derived from the topic “Colonial Economy and Social 

Services after the Second World War”. It required the candidates to explain 

the amendments which were made in colonial trade after the Second World 

War. Despite having a least frequency in paper 1 (34.7%), its performance 

was good since only 10.3 per cent of the candidates failed by scoring from 

0 to 6.5 marks and the majority 89.7 per cent passed by scoring from 7 to 

11.5 marks (44%) and from 12 to 19 marks (45.7%) as shown in figure 6. 
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Figure 6: Performance of Candidates in Question 6 

Candidates whose marks ranged from 12 to 19 had a better mastery of the 

changes which were made in the colonial trade after 1945. They provided 

relevant explanations on the points like establishment of cooperative 

unions, setting of the marketing boards, expansion of financial institutions, 

improvement of infrastructure, increase in import – export trade and 

imposition of price controls at fixed rates. The variations in their scores 

were caused by their disparities in the ability to provide coherent 

explanations. Extract 6.1 represents a sample of good responses to this 

question. 
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Extract 6.1: A sample of a good response to question 6 

Extract 6.1, shows a part of the response from a candidate who was able to 

explain the amendments done in the colonial trade after the Second World 

War. 

Candidates who scored marks ranging from 7 to 11.5, provided relevant 

responses which embodied some errors. Some of these errors include; 

giving superficial explanations, repetition of some points and provision of 

wrong examples. Moreover, some candidates did not consider the time 

boundary set in the question thus provided some initiatives done during the 

introduction of colonial economy in Africa.  
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Candidates who scored marks ranging from 0 to 6.5 had several 

shortcomings. Some of them were only able to define the key concepts and 

provide a mixture of correct and incorrect points which were poorly 

explained. Others failed to organize their responses in an essay format. On 

the other hand, some candidates diverged from the demands of the question 

due to misconceptions and misinterpretations. Some for example, 

responded on the concept of trade contacts between Africa, Asia and 

Europe. They provided the impact of the trade contacts like: growth of 

towns, intermarriage, spread of Islamic religion, and spread of Kiswahili. 

Others presented the impact of colonial trade on Africa like growth of 

towns, increase of production and creation of job opportunities.  

Surprisingly, some candidates provided the reasons for colonization of 

Africa. Extract 6.2: A sample of a weak response to the question. 
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Extract 6.2: A sample of a weak response to question 6 

 

In extract 6.2, a candidate accounted for the scramble and ultimate partition 

of Africa at the last quarter of 19th century contrary to the demand of the 

question.  



41 

 

2.1.7 Question 7: The Rise of Nationalism 

The question was set from the topic “Influence of External Forces and the 

Rise of Nationalism and the Struggle for Independence”. The question 

required the candidates to show how the 1st and 2nd World Wars activated 

African Ex- soldiers to struggle for African independence.  

It was attempted by 58 per cent of the candidates. The general performance 

of the candidates was good as only 16.8 per cent scored from 0 to 6.5 while 

45.1 per cent scored from 7 to 11.5 marks and 38.1 per cent scored from 12 

to 17.5 marks. Figure 7 provides a statistical analysis of the performance. 

 

Figure 7: Performance of Candidates in Question 7 

The candidates who scored from 12 to 17.5 marks understood and 

interpreted the question correctly. They were aware of how the 1st and 2nd 

World war produced Ex-soldiers who later triggered off decolonization 

process in Africa. They provided clear explanations and vivid examples. 

Their responses focused on the experience these soldiers gained in wars 

which later became useful in decolonization processes. Such experience 

include: learning and knowing how to read and write, experiencing people 

living high standard of life, acquiring confidence and awareness of their 

position, learning that Europeans were also suffering and dying in the war 

as Africans. However, candidates’ scores varied due to their different 
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strengths in elaborating, organizing of work and providing relevant 

examples. Extract 7.1 shows a relatively appropriate response to question 7. 
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Extract 7.1: A sample of a relatively good response to question 7 

 

In Extract 7.1, a candidate was able to show how the First and Second 

World Wars activated African soldiers to struggle for African independence 

though some of the explanations about Ghana are not correct.  

 

Most candidates who scored marks ranging from 7 to 11.5 presented their 

points with varied strengths. Some provided partial explanations without 

relevant examples. Others failed to meet the required number of points yet, 

others provided responses which were full of historical errors to the extent 

of distorting the direct meaning of what was expected. Moreover, the 

examples cited were not corresponding with the answers.  
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Candidates who scored from 0 to 6.5 marks had different levels of 

weaknesses. For example, some presented weak introductions, arguments 

and conclusions while some responded on less than six points and others 

provided scanty explanations. Moreover, some candidates failed to interpret 

the question thus came up with diverse answers. For example, some 

highlighted the factors for the rise and development of African nationalism. 

Others responded on either the causes or the impact of the First and Second 

World War. Furthermore, other candidates focused on the influence of the 

independent nations such as India, Burma and North Korea and the role of 

UN, Bandung conferences, Pan Africanism and other related international 

organs in championing decolonization process in Africa. Extract 7.2 is a 

sample of a response from a candidate whose response did not meet the 

requirements of the question. 
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Extract 7.2:  A sample of a poor response to question 7 

 

Extract 7.2 is a part of the response of a candidate who deviated from the 

requirements of the question by providing the factors for the rise of African 

nationalism. 
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3.0 ANALYSIS OF THE CANDIDATES’ PERFORMANCE IN EACH 

QUESTION 

3.1          112/2 HISTORY 

3.1.1 Question 1: The Rise of Capitalism in Europe 

The question was set from the topic “The Rise of Capitalism in Europe”. It 

demanded the candidates to show the influence of mercantilism in the 

development of capitalism in western Europe. The question was 

compulsory, thus all candidates (36,589) attempted it. The performance in 

this question was good since very few candidates (3%) failed by scoring 

from 0 to 6 marks while majority of them passed by scoring from 12 to 

19.5 (70%) and from 7 to 11.5 (27%). Figure 8 shows the performance of 

the candidates in the question. 

 

 

Figure 8: Performance of Candidates in Question 1 

The candidates who scored from 12 to 19.5 marks acknowledged the 

influence of mercantilism to the development of capitalism in Western 

Europe. Such candidates exhausted the required number of points and 

provided relevant explanations with supportive examples. Their responses 

focused on how mercantilism accumulated wealth, stimulated the 

development of science and technology and how it rose and developed 

financial institutions and port towns. Moreover, the candidates indicated 
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how foreign markets and raw materials were acquired through mercantile 

activities. However, candidates’ score in this group varied due to disparity 

in their ability of presenting coherent responses. Extract 8.1 shows an 

example of a relatively good response to this question. 
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Extract 8.1: A sample of a good response to question 1 

 

In Extract 8:1, the candidate provided detailed descriptions showing how 

mercantilism accelerated the development of capitalism in Europe. 

 

The candidates who scored from 7 to 11.5 marks understood the 

requirement of the question and provided some relevant points. However, 

several errors were identified in their responses. For example, some 
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provided inadequate explanations and failed to provide relevant examples 

to validate their arguments and others failed to exhaust the required number 

of points. Such weaknesses lowered their marks. Moreover, some 

candidates repeated some points which in a real sense meant the same 

thing. For example, unequal exchange and rooting and piracy had the same 

impact (accumulation of wealth) but some candidates treated them 

separately.  

 

Some weaknesses of the candidates who scored from 0 to 6.5 marks 

include; failure to meet the required number of points and providing 

insufficient explanations with no precise examples, mixing relevant points 

on mercantilism with false historical facts from the concepts of the Long 

Distance Trade and the Early Contacts between Africa, the Middle and far 

East. Some listed the points without giving clarifications and examples. A 

seriously noted weakness of the candidates in this group was failure to link 

the impact of mercantilism with the development of capitalism. On the 

other hand, the candidates who scored zero had several weaknesses: some 

pointed out the impact of mercantilism on Africa by providing points like: 

depopulation, technological stagnation and family disintegration. Other 

candidates dealt with reasons for colonialism pointing out the demand of 

the colonialists in Africa such as raw materials, market, areas for 

investment and cheap labour. Other candidates provided the factors for the 

rise of mercantilism hence gave points like the development of science and 

technology, geographical discovery, the role played by Tudor monarchy 

and development of merchant companies. Surprisingly, some dealt with the 

features of capitalism as a mode of production. Extract 8.2 is an example of 

a response from a candidate who gave an incorrect answer to this question. 
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Extract 8.2: A sample of a poor response to question 1 

 

In extract 8.2, the candidate responded on the features of capitalism as a 

mode of production contrary to the demand of the question. 

3.1.2 Question 2: The Rise of Democracy in Europe 

The question was set from the topic “The Rise of Democracy in Europe”. It 

required the candidates to analyse the aims of the Glorious Revolution of 

1689. A reasonable number of candidates (82.9%) attempted it. The 

performance in this question was good as only 6.5 per cent of the 

candidates failed by scoring from 0 to 6.5 marks and others passed by 

scoring from 7 to 11.5 marks (44.4%) and from 12 to 19 marks (49.1%). 

Figure 9 shows the performance of the candidates in this question.  
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Figure 9: Performance of the Candidates in Question 2 

 

The candidates who scored from 12 to 19 marks had enough knowledge on 

the English Glorious Revolution of 1689. They explained various issues 

which were to be eliminated so as to lead the country to a true democracy. 

Such issues include: absolute monarch and feudalism. The candidates 

exposed other aims of the revolution such as stopping the misuse of finance 

for private issues, establishing a liberal democratic government based on 

freedom of speech and freedom of worship, religious tolerance and bill of 

rights. However, the scores of the candidates varied due to varied strengths 

of the responses. Extract 9.1 shows an example of a relatively good 

response to this question. 
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Extract 9.1: A sample of a good response in question 2.  
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The candidates who scored from 7 to 11.5 marks were conversant with the 

demands of the question. However, several errors were identified in their 

responses. Some of these errors include; provision of insufficient 

explanations in some points; providing irrelevant examples and repeating 

some points. These weaknesses limited their scores to 11.5 marks.  

 

The candidates who scored marks ranging from 0.5 to 6.5 had partial 

knowledge on English Glorious revolution of 1689. Some of them 

examined aspects which embodied some elements which resemble with the 

goals of the 1689 Glorious Revolution. Such coincidences made them to 

score some few marks from few related facts. Such wrong aspects include: 

the causes of French revolution of 1789 like: overthrow of monarchical 

government, declaration of human rights and universal suffrage and the 

causes of 1848 revolution in Europe such as emergence of liberal groups, 

restoration of absolute monarchy, the great economic depression of 1838-

1848 and population explosion. Moreover, some candidates presented few 

points with partial explanations while others duplicated the points. 

 

Further analysis indicates that, some candidates failed to interpret the 

question thus scored zero. For example, some dealt with the challenges 

which encountered the English Glorious revolution such as the government 

suppression, disunity, and lack of awareness among the common people. 

Others responded on the aims of Agrarian revolution in England while 

others focused on the October Socialist revolution of 1917. Such deviations 

were a result of misinterpreting the word “Glorious revolution” thus 

candidates found themselves focusing on whatever the revolution they 

knew. Extract 9.2 shows a sample of an irrelevant response to this question. 
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Extract 9.2: A sample of a poor response to question 2 

 

Extract 9.2 indicates a candidate who treated Glorious Revolution as 

Agrarian Revolution. 
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3.1.3 Question 3: Imperialism and the Territorial Division of the World 

The question was set from the topic “Imperialism and the Territorial 

Division of the World”. It required the candidate to substantiate the 

inevitability of the European alliances in the 19th century. It was attempted 

by a reasonable number of the candidates (77.1%) and its general 

performance was good since the majority of the candidates (55%) scored 

good marks (from 12 to 19) while 35.3 per cent of the candidates scored 

average marks (from 7 to 11.5) and very few candidates (9.7%) failed by 

scoring from 0 to 6.5 marks as shown in figure 10. 

 
Figure 10: Performance of Candidates in Question 3 

 

The candidates who scored from 12 to 19 marks were able to verify the 

forces behind the formation of European alliances in the 19th century by 

showing the need of French revenge and the importance of maintaining 

peace in Europe. Moreover, such candidates were able to indicate how the 

rise of imperialistic ambitions and increased militarism and arms race 

necessitated the amalgamation of states. The varied strength among the 

candidates in providing plausible answers caused some to score higher than 

others in this group. Extract 10.1 shows an example of a relevant response 

in this question. 
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Extract 10.1: A sample of a good response to question 3 

 

The Candidates who scored from 7 to 11.5 marks understood the demands 

of the question but their responses had several weaknesses. For example, 

Majority of the candidates in this group provided scanty explanations which 

were not supported by relevant examples and other responses were 

characterised by repetitions of points. Moreover, some explanations 

embodied grammatical errors which distorted the intended meaning and 

some of them were not organised in an essay format. 

 

The candidates who scored marks ranging from 0 to 6.5 had a number of 

limitations. Some were able to give relevant points but explanations and 

examples given were irrelevant. Others scored a mark in the introduction 



68 

 

because they had little knowledge about the subject matter but provided 

irrelevant answers. On the other hand, candidates who scored zero diverged 

from the demand of the question. Some responded on the reasons for the rise 

of fascism in Europe such as: the effect of the First World War, Great 

economic depression, fear of communism, collapse of league of nation and 

weakness of Versailles peace treaty. Others provided the terms of Versailles 

peace treaty indicating how they acted as a tool of punishing Germany and 

others responded on the concept of cold war. Extract 10:2 shows a sample of 

a weak response. 
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Extract 10.2: A sample of an irrelevant response to question 3. 

 

In Extract 10.2, a candidate explained the causes of cold war instead of 

showing the rationale of European alliance in the 19th century.  

3.1.4 Question 4: The Rise of Socialism 

The question was set from the topic “The Rise of Socialism”. It tested the 

ability of the candidates to examine the effect of the Russian revolution of 

1917 in the World. The question was attempted by 93.8 per cent of the 

candidates. The performance in this question was good since majority of 

the candidates (53.5%) passed by scoring from 12 to 19 marks and 38.8 per 

cent of the candidates scored average marks from 7 to 11.5 while very few 

candidates (7.7%) failed by scoring from 0 to 6.5 marks. Figure 11 shows 

the performance of the candidates in this question. 
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Figure: 11: Performance of Candidates in question 4 
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The candidates who scored marks ranging from 12 to 19 portrayed a great 

knowledge on the effect of the Russian Revolution of 1917 in the World. 

They were able to show how the revolution spread communist ideas leading 

to the division of the World into two antagonistic powers and its effects. 

Moreover, they were able to show how the revolution intensified the cold 

war and its associate influences such as the formation of Non-Aligned 

Movement. The variation of the candidates’ scores was due to disparities in 

strength of their arguments. A few constraints such as wrong examples and 

scanty explanations in some points denied some candidates higher marks. 

Extract 11.1 shows an example of a relevant response in this question.  
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Extract 11.1 A sample of a relevant response to question 4 

 

The candidates who scored from 7 to 11.5 marks had several shortcomings. 

Some failed to give the required number of points and others mixed correct 

and incorrect points. The main weakness observed in the candidates’ 

responses was mixing the correct responses with the impact of the 

revolution within Russia. Weak points like the outbreak of civil war in 

Russia, destruction of properties, spread of civil unrest and the likes 

dominated. Some candidates failed to realise that the question mandated 

them to show how the revolution affected the world and not Russia. 

 

The candidates who scored from 0 to 6.5 marks had various errors. Some 

failed to meet the required number of points, others repeated points and 

some had shallow explanation and false examples in some points. 

Moreover, some candidates provided what was seen as the effect of English 

revolution of 1640s to 1680s. However, points like the demise of feudalism 

and overthrow of monarchical government resemble with the impact of 

Russian revolution. On the other hand, some candidates diverged from the 

demands of the question thus scored zero. For example, some responded on 

various revolutions such as: Agrarian, Scientific, Industrial and the likes. 
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Other candidates dealt with the causes of the Revolution in Russia. Extract 

11.2 is a sample of irrelevant answers from one of the candidates.  
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Extract 11.2: A sample of an irrelevant response to question 4. 

 

In extract 11:2, the candidate responded on the causes of the revolution 

instead of examining the effects of the Russian revolution in the world. 
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3.1.5 Question 5: The Emergence of USA 

The question was derived from the topic “The Emergence of USA as a New 

Capitalist Super Power”. The candidates were supposed to describe the 

reasons which made USA to establish good relationship with Japan after 

the Second World War. Relatively few candidates (44.3%) attempted the 

question but the general performance was good since only 12.7 per cent 

failed by scoring from 0 to 6.5 marks and majority of the candidates 

(87.3%) passed by scoring average and good marks as shown in Figure 12 . 

 

 
Figure 12: performance of candidates in question 5 

 

The candidates who scored from 12 to 19 marks had enough knowledge 

about the USA relationship with Japan after the Second World War. They 

were able to acknowledge the ambitions of USA in reconstructing the 

Japanese economy and creating friendship. Moreover, strategic reasons 

such as containing communism, eliminating fascism and protecting trade 

interest also prevailed. The variation of scores was caused by the 

candidates’ disparity in providing adequate and relevant explanations and 

examples. Extract 12.1 shows an example of a relevant response in this 

question. 
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Extract 12.1: A sample of a good response to question 5 
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Failure to provide detailed clarifications in some points, incorporating false 

examples in the responses, failure to meet a required number of points and 

repetition of some points were some weaknesses which featured the 

responses of the candidates who scored from 7 to 11.5 marks.  

 

The candidates who scored from 0 to 6.5 marks provided scant 

descriptions. In some cases, some were able to give relevant introduction 

but scored zero in the main body. Moreover, other candidates listed few 

relevant points without giving any explanations. On the other hand, the 

candidates who scored zero revealed poor understanding of the subject 

matter. Some explained on the concepts of US relationship with Japan and 

Germany. Some responded on the effects of the Second World War in 

Japan by exposing various destructions the war caused leading to the 

decline of the economy. Moreover, there were some candidates who 

responded on the USA move in reviving European economy pointing out 

strategies like the Marshall Plan and the Open Door Policy. Extract 12.2 

shows a sample of irrelevant responses in question 5. 
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Extract 12.2: A sample of a poor response to question 5 

 

Extract 12.2 indicates a sample of a response from a candidate who 

explained the reasons which made USA to establish a good relationship 

with Germany contrary to the demand of the question. 

3.1.6 Question 6: Threat to the World Peace 

The question was set from the topic “Threat to the World Peace After the 

Second World War”. It required the candidates to explain the consequences 

of the rise of the Jewish state of Israel in the World History. It was 

attempted by 66.6 per cent of the candidates. The performance in this 

question was good since 47.3 per cent of the candidates scored from 12 to 

19 marks, 39.3 per cent scored from 7 to 11.5 marks while a considerable 

percentage of candidates (13.4%) failed by scoring from 0 to 6.5 marks. 

Figure 13 displays the performance of the candidates in this question. 
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Figure 13: Performance of candidates in question 6 

 

The candidates who scored from 12 to 19 marks were able to explain the 

impact of the rise of the state of Israel in the world. Such candidates were 

aware that the rise of the state in question was associated with several wars 

therefore, the loss of lives and creation of refugees were inevitable. 

Moreover, these candidates knew that, the main actors were the Jews and 

Arabs of Israel and Palestine respectively thus, other consequences such as 

consolidation of Zionism, the rise of Pan - Arabism and penetration of cold 

war politics were inevitable. Furthermore, such candidates realised that the 

prevailed atmosphere of insurgence in the area, activated terrorism. 

However, the varied abilities of the candidates in explaining the answers 

coherently caused some to score higher than others.  Extract 13.1 portrays a 

sample of a relatively good response to question 6. 
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Extract 13.1: A sample of a good response to question 6 
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The candidates who scored from 7 to 11.5 marks understood the demands 

of the question. However, they provided a mixture of correct and incorrect 

responses. This was mainly caused by partial understanding of the subject 

matter. Some candidates responded on what was interpreted as the effect of 

Arab-Jewish war in which some arguments such as: the rise of Arab 

nationalism, loss of lives and loss of Palestinian land were more or less 

similar with the desired points in question. Some failed to meet the required 

number of points and others exhausted the required number of points but 

failed to provide appropriate explanations and examples. 

 

The candidates who scored from 0 to 6.5 marks provided limited points 

with shallow explanations and false examples in some points. Moreover, 

some candidates scored a mark from the introduction part but diverged 

from the demands of the question in the main body. Some of them 

responded on what was interpreted as the causes of the Arab-Jewish war. 

However, some points like the rise of Zionism and the 1956 Suez Canal 

war relate with the correct responses. On the other hand, candidates who 

scored zero diverged from the demands of the question. For example, some 

focused on the causes of the Middle East crisis by providing points like; the 

struggle for land between Arabs and Jews and the refusal of Arab states to 

give Israel official and legal recognition and others explained the factors 

for the rise of Jewish state. Extract 13.2 displays a sample of irrelevant 

answers to question 6. 
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Extract 13.2: A sample of a poor response to question 6 

 

In extract 13.2, a candidate explained the factors for the rise of the State of 

Israel instead of the consequences of its rise. 

3.1.7 Question 7: Neo - Colonialism and the Underdevelopment 

This question was set from the topic “Neo - Colonialism and the 

Underdevelopment of Third World Countries”. It tested the ability of the 

candidates to show the influence of the 1979 Non - Aligned conference in 

solving the problems of underdevelopment in the Third World Countries. 

The question attracted a least number of the candidates in this paper as only 

33.6 per cent attempted it. However, the general performance of the 

candidates in this question was good since only 26.3 per cent of the 

candidates scored weak marks (from 0 to 6.5), while 43.8 per cent scored 

average marks (from 7 to 11.5) and 29.9 per cent had good marks (from 12 

to 18). Figure 14 shows the performance of the candidates in this question. 
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Fiqure14: Performance of Candidates in Question 7 

 

The candidates who scored from 12 to 18 marks were able to realise that 

the said conference was conducted in Havana and came out with the 

resolutions which were credited for solving the problems of 

underdevelopment in the Third World Countries. These candidates pointed 

out some members’ recommendations which had a positive impact in the 

Third World economy. Such recommendations include: endorsing 

immediate steps to be taken to undertake research in the development of 

new and renewable sources of energy, insisting the integration of women in 

the development, stressing the urgent need of improving substantially the 

transport and communications infrastructure on the continent and 

increasing trade cooperation among them in order to avoid unfair trade 

practice with the West (Europe, America and Japan), Moreover, such 

candidates exposed how the conference condemned Camp David Peace 

Accord between Egypt and Israel, opposed big powers to interfere the 

economy of small nations such as Iran and Venezuela and reacted against 

US economic sanctions in Cuba. Varied accurateness of explanations and 

examples caused some candidates to score higher than others. Extract 14.1: 

displays a sample of a relatively good response to question 7. 
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Extract 14.1: A sample of a good response to question 7  

 

In Extract 14.1, despite some grammatical errors and misspelling of the 

name Castro, a candidate was able to show how the 1979 NAM conference 

addressed the issues of underdevelopment in the Third World Countries.  

 

The candidates who scored from 7 to 11.5 marks were able to provide 

appropriate answers but their responses had several shortcomings. Some 

combined the role NAM in solving the problems of underdevelopment and 

development of African Nationalism. Others provided lesser than the 

required number of points. Nevertheless, some gave irrelevant examples 

while substantiating their points. 

 

Candidates who scored from 0 to 6.5 marks provided few relevant points 

with very scanty explanations and most of the examples given were 

irrelevant. Furthermore, candidates who scored a 0 mark did not understand 

the demands of the question. For example, some focused on the factors for 

the formation of Non-Aligned movement (NAM) by pointing out the rise of 

cold war, others based their explanations on the Berlin conference thus 

provided either the reasons for holding the meeting or the resolution of the 
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meeting. Others examined the causes of underdevelopment in Third World 

Countries by providing points like: Neo-colonialism, corruption, lack of 

reliable market for agricultural products, low level of science and 

technology and regionalism and others focused on the problems facing the 

Third World Countries. 14.2: Extract shows irrelevant response from a 

candidate who failed to understand the demands of the question.  
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Extract 14.2: A sample of an irrelevant response to question 7 

 

In Extract 14.2, a candidate focused on the challenges facing the Third 

World Countries instead of explaining the influence of the 1979 NAM 

conference in solving the challenges of underdevelopment. 



100 

 

4.0 ANALYSIS OF THE CANDIDATES’ PERFORMANCE PER TOPIC 

 

The analysis of the questions show that a total of 13 out of all 15 topics 

were examined. These topics are: Pre-colonial African Societies, Africa 

and Europe in the 15th Century, People of African Origin in the New 

World, Colonial Economy and Social Services after the Second World War, 

The Influence of External Forces and the Rise of Nationalism and the 

Struggle for Independence and Political and Economic Development in 

Tanzania since Independence in 112/1 History paper 1.  

 

In 112/2 History paper 2, the topics examined were: The Rise of Capitalism 

in Europe, The Rise of Democracy in Europe, Imperialism and the 

Territorial Division of the World, The Rise of Socialism, The Emergence of 

USA as a New Capitalist Superpower, Threats to World Peace After the 

Second World War as well as Neo – Colonialism  and Underdevelopment in 

the Third World Countries. Nevertheless, the topics: From colonialism to 

the First World War 1880s – 1914 (Paper 1) and The Rise of Dictatorship 

in Germany, Italy and Japan (Paper 2) were not examined.  

The analysis indicates that all thirteen (13) topics which were examined had 

a good performance (See appendix). The analysis further shows that the 

performance in: Threats to World Peace after the Second World War topic 

has improved from average in 2020 to good in 2021. 

5.0 CONCLUSION AND RECOMMENDATIONS 

5.1 CONCLUSION 

 

The performance in History subject was generally good. Despite some few 

individual cases, most candidates answered in accordance with the 

requirements of the questions and had basic knowledge of the subject 

matter. However, some few responses were of poor quality. Some 

weaknesses observed in the scripts of the candidates with poor performance 

include; inadequate knowledge on the topics tested, inability to express 

themselves in English language and misinterpretations of some questions. 

The comparison between the 2020 and 2021 results shows that all topics 

had good performance. Moreover, the performance of the Threat to the 

World Peace After the Second World War topic which was reported to be a 
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“threat” to the candidates in the past reports, improved from average in 

2020 to good in 2021. Such a good performance indicates that, efforts are 

being done by educational stakeholders to improve the teaching and 

learning processes.  

5.2 RECOMMENDATIONS 

Despite the good performance in History subject, there are some few cases 

which must be dealt with seriously so as to maintain or improve the 

performance in History subject in future. It is therefore suggested that: 

(a) Students should be encouraged to use English language in their day to 

day communications so as to enrich their language proficiency. More 

rational ways of improving students’ language proficiency should be 

established depending on the environment of each school. 

 

(b) Students should be encouraged to read texts and reference books so as 

to widen their understanding on various historical concepts. Thus, 

schools should be encouraged to equip libraries with relevant reading 

materials either in form of hard or soft copies. 

 

(c) Candidates should be told to read the questions carefully so as to 

grasp their demands before attempting them. 

 

 

 

 

 

 

 

 

 

 

 

 

 

Appendix  

The Performance of Candidates in each Topic 
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S/N 

 

Topic 

Number of 

questions 

per topic 

Percentage 

of 

candidates 

who 

scored an 

average of 

35 percent 

or more 

 

Remarks 

1.  
Political and 

Economic 

Development in 

Tanzania Since 

Independence 

1 98.9 
Good 

2.  
Africa and Europe 

in The 15th 

Century 
1 97.2 

 

Good 

3.  
The Rise of 

Capitalism in 

Europe 
1 97.0 

 

Good 

4.  
People of African 

Origin in the New 

World 
1 93.7 

 

Good 

5.  
The Rise of 

Democracy in 

Europe 
1 93.5 

 

Good 

6.  
The  Rise of 

Socialism 1 92.3 

 

Good 

7.  
Imperialism and 

the Territorial 

Division of the 

World 

1 90.3 

 

Good 

8.  
Pre - Colonial 

African Societies. 1 88.3 

 

Good 

9.  
Colonial Economy 

and Social 
2 87.8 
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S/N 

 

Topic 

Number of 

questions 

per topic 

Percentage 

of 

candidates 

who 

scored an 

average of 

35 percent 

or more 

 

Remarks 

Services after the 

Second World 

War 

Good 

10.  
Emergence of 

USA as a New 

Capitalist 

Superpower 

1 87.3 

 

Good 

11.  
Threats to World 

Peace After the 

Second World 

War 

1 86.6 

 

Good 

12.  
The Influence of 

External Forces, 

the Rise of 

Nationalism and 

the Struggle for 

Independence 

1 83.2 

 

Good 

13.  
Neo - Colonialism 

and the 

Underdevelopment 

of Third World 

Countries 

1 73.7 

 

Good 

 

 




